#6

Assignment #3

Linear Programming, mixed constraints

Defining the problem, solving it graphically, solving it with STORM, and presenting the analysis

DUE: September 5

20 points

 

Can-Do canning company produces two sizes of cans – regular and large.  The cans are produced in 10,000-can lots.  The cans are processed through a stamping operation and a coating operation.  The company has 30 days available for both stamping and coating.  Many regular size cans require two days to stamp and four days to coat, whereas many large cans require four days to stamp and two days to coat.  Many regular size cans earn $800 profit, and many large size cans earn $900 profit.  In order to fulfill its obligations under a shipping contract, the company must produce at least 9 lots.  The company wants to determine the number of lots to produce of each size can in order to maximize profit.

A)  Solve the problem graphically.

B)  Solve the problem with STORM.

Reminders:

· Include the linear programming model, problem definition, solutions, and executive summary.

· Include all the requirements for assignments stated on handout #1.

 

